2 days = ‘51 Q hours
2. 3 hours = :Z 8@ minutes.

3. 2 Minutes = 220 seconds.

4. There are 29 days in a leap year.

5. The month February has Pha

days in a leap year.

6. Will 2038 be a leap year?
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7. How many days are there from 6™ April to 30" May?
6P to 67‘};\«;@?/ o
6 May 30!
35 4 month =30 doygs 24 24 days-
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8. Add s 5 i ol L
7 hours 40 minutes 30 seconds + 6 hours 45 minutes 55 seconds’ . .« .

cON Y
+ 6 45 5
776 2

U’IUTO

9. Subtract (

14 hours 57 minutes 40 secohds — 7 hours 34 minutes 20 seconds
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10. Convert 12 days 15 hours into hours.
1 Obtb(g“ 24 howS

Ao houss
i %9-& Zilgé hguzs

303 houds |

11. Convert 750 seconds into minutes and seconds.

1 minutes =60 Secands
150 Secorls =150 2602 D rprutes cnol 3o Secono(s

12. Convert 9 hours 30 minutes into minutes. \

1 HowS=60 rrnvtes |
0 HoUS= g X 6()" SYo ("'Zﬂu’f@
20 rnles = SYo 4 30> S f‘”?flff eq
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13. How much
Is 4 i
hours 13 Minutes more than 2 hours 35 minutes?

3735 o Yooz 25 rMrruts
Yoo to Y' 13213 menufes

S0, 1. houns 38 minutes uch & 1K 38 TS e than

14. Rakesh goes to tuition at 8.10 a.m. and comes back home at 11 am. Find the time he
spends in the tuition.

ArG-Rakesh goes to tuikonod 8110 e
He oesed back hove of 10 o -

Q.10 o fo A210 on =t hos
q' 10 o fo A 1oen=1 honns
10'10 on1 to 4L oM = So Minufes

-/__'__-——- »
60, Hhe tame spends 2},+U2‘7%2ﬂ hoovs 6o rnnutes

15. Laxmi came to my house on 15™ January. She stayed with us for 30 days. On what
date did she leave?

Ans-1sth Doy To Gl)f‘" S0y 7‘:5%7_6 o(o%
15t Feloasty fo 14'pebruany = 16411= S0
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